Jodoob 070 douobbouoooboobuoooooo
(2019.11.2000)

O
oooo B=(b,...,b,) 0000000 VOODOOOOOO,000 veV 0O by, ....b,
gdooooouoooouoooon.
C1 C1
v:clb1+~-—|—crbrz[bl,...,bT] | 00000, 0000nD || 0000 BOODO
Cr Cr
DDDDDD[v]BDDD.VDDDDDDDDDDDDDDDDDDDDD[U]BDDDDDDD
C1

2

00000000000 [by,...,b] || =00000000
Cr
2 2 1 8 ||
D00 R O00B=(b=|"| b=||)0000v=]|" N~ —
000 BOOOOOO [v]p O v:3b1+2b2DDﬂDDu S

1pRri0cOOODOO

OO =

[0] 0
R3DDDDDD5:(61:[],62: 1 ,e;;:[()] Joddoooo22000ggoood
1

o S o 1 ) A G

(1) beO[B)40 b]p 000000000

p
2) veR}000 ADDDOO0O0 p)40 |¢|00000000&000O000 p]e000

r
00 BO0O0O0O0OO wpOOOO0OOOOOO

DDDDDDDDDDDD
1
4 >DDDDDDA—(a1,a2)D voooo
1

REOODOOOV =

-8

4
000by = | 5| ,by = ]DDDDDVDDDDDDDDDDDDDADDDDDD
[bl]AD[bg]ADDDDDDDDD



]
gbbobuoooobbbuooobbbuoodobobbod 19.1000
wy,Wo O VOouoooooooooooooooo

dlIIl(Wl + Wg) = dim W1 + dim WQ — d1m(W1 N WQ)

3cooooooooo ROOOOO W, W, W,U0000000000

1 —1 1 2
0 1 ) -3
W1:<a'1: 1 , Ay = -1 >7 W2:<b1: -1 7b2: 0 7b3:
2 0 -5 1
( _xl_
i) 4 2$1+3$2+3ZE3—35L‘4:0
= R
W3 XT3 < —ZL’1—2.T2— T3 + 1’4:0 ’
L L%4
( -371-
W4: iQ €R4 2[E1+5L‘2—4J}3+ZE4:O
3
\ L%4

(1) Wo,Ws O OOOoooooooooooo
(2) WinW,OW,+W,000000000000000
B) WinW,0W,+W;000000000000000

(4) WsnW,0W;+W,000000000000000

O

00000001900 mxnOO A=

T
;]z[cl...cnmm,

T'm

000 N(A) 0000000 Az=00000000R"0O000000

Oo00 R(A) nO0O00O000OTWP,...,r, 000000 R, 00000.
ODoOOo0DoOR,00n00000000000O00O0DO0ODO0OM

000 C(A) mOO00O0OO0OOe,...,c, 000000 R™OO0O0ODO.

0
3-5-1-3-9
DDDDDDDDDDDDDDDD 00 M= ;—Oli 1 ? gooo
1-11 —-1-1

MOODO'MOODOOOO0OOOOOOOO0OO0O0O00O0O00000000O0



